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Introduction: A New Global 
Environment 

• Challenges: 

• Slow growth in advanced economies. 

• Brics (besides India) all face growth problems. 

• Commodity markets are depressed. 

• Opportunities: 

• Wages rising in China: supply chains are 
moving. 

• Middle Classes in China and India are growing. 



Outline 

 

• Kinds of Growth. 
 

• Three policies: 
 
– Tariffs on inputs. 

 
– Infant Industry Protection. 

 
– Competitive exchange rates. 

 
• Implications for Nigeria. 

 
 



Where does growth come from? 

• Sustainable Growth comes from convergence with the 
productivity levels (the “technology”) that prevail in the 
rich countries 

 
– “Technology” is the name for the stock of ideas and 

knowledge that is available for developing countries to absorb 
(and disseminate throughout their economies)  
 

• This stock does not disappear or dissipate when rich 
countries grow more slowly or when world trade is less 
buoyant.  

 
– As long as developing nations follow the appropriate strategies  



Wages reflect Productivity! 



Where does growth come from?  

There is “bad” growth (1) 

 
1. Foreign borrowing-led growth 

• Examples: countries in the periphery of EU in 1990s, Latin America 
in 1970s, Iceland, Ireland and Greece in 2000s. 

• Good to the extent that it eases the financing constraint of firms 

• Inevitably comes to an end when capital flows dry up 

• This pattern of growth is associated with current account deficits 
and the overvaluation of the currency 

• and the booming of the “wrong” kinds of economic activities, which 
do not promote long-term growth 

• non-tradables such as construction and real estate 



Where does growth come from?  

There is “bad” growth (2) 

 
2. Commodity boom-led growth 

• Examples: 19th century, many African (and Latin American) 
countries in the last decade 

• Not sustainable in the longer term, because of both cyclicality and 
long-term downwards trend in the commodity terms of trade 

• Also associated with the booming of the “wrong” kinds of economic 
activities 

• And produces bad politics on top 
• Resource rents and the rentier state 

• Chile a rare example of a country that has (so far) managed resource 
rents well 

 

 

 



Where does growth come from?  

… and then there is “good” growth (3) 
 
3. Structural transformation-led growth 

• From low-productivity traditional products 
• traditional agriculture and informality 

• to modern, non-traditional activities 
• manufacturing, non-traditional export crops, and tradable services 

• Examples: Japan, S. Korea, China, India 
• Based not on (static) comparative advantage, but on producing what 

countries richer than you produce 
• Associated with “productivist” policies 

• policies that explicitly promote structural change, through removal of constraints 
on investments in modern activities 

• And through industrial policies, undervalued currencies, financial controls 
• Underpinned by sound macro/fiscal policies  

• This is the only model that generates reliably sustained convergence with 
income levels in the advanced countries  

 
 



Example: Manufacturing Share Rises 
and then Falls 
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Trade and Growth: Why do fast 
growing countries like China import so 

much? 

China : Rat io of Exports of G&S to GDP 1981-2007
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Trade and Growth:  Exports and Imports 
Typically Grow faster than Output 

 

• Links between growth and trade. 
– To Invest (buy equipment) and use inputs you 

must import. 

– To pay for imports you must eventually export.  

– To export  in a world of supply chains you must 
import. 

– Export promotion leads to import promotion. 

– E.G. Free Trade Zones. 



China: Manufactured Exports in 2012 
 40 percent of Value Imported. 



I-Phone: Made in the World 
$11, U.S.  While America 

doesn't make much of what 
goes into the iPhone, it's 
always better to innovate 
than to fabricate; just see 

Apple's profit 
$61, JAPAN.  It doesn't 

innovate as much as the 
U.S., but its tech prowess 
means a lot of high-end 

manufacturing value stays 
there 

$7, CHINA.  Often more of an 
assembly line for other 

nation's wares, work here 
accounts for only 3.6% of an 

iPhone's production cost 

$48, UNSPECIFIED 

$30, GERMANY 

$23, SOUTH KOREA 

Source: Time Magazine, “Adding Up the iPhone,” May 16, 2011. 

The other $320? 
Apple’s profit.  



Even the USA BOEING is made in the world. 



In addition  

• In education, Nigeria needs to improve basic skills levels and build 
better policies and programs that would boost access and market 
relevance of technical vocational education and training. 

 
• In agriculture, increase access to markets, inputs, credit, and 

technology. 
 

• To help grow private businesses and increase their employment 
capacity, Nigeria will need to improve the business climate. The 
biggest gains in productivity would come from reducing crime, 
improving access to credit, reducing losses due to power outages, 
improving legal system to enforce property rights. 
 



Policy 2: Low costs of inputs. 

• Countries that export, provide their exporters 
with inputs at world prices. 

• Implies the need for low or zero tariffs on 
capital goods and intermediate inputs and low 
transactions costs associated with trade – 
especially importing. 

• Example: If you want to be competitive in 
clothing you cannot have expensive fabrics. 



3) Infant industries (not firms) 

• Protecting firms that will never be globally 
competitive simply wastes resources. 

• Likewise the government should not substitute 
for measures the private sector would undertake 
anyway. 

• But there are times when private markets may 
fail to reflect true social costs and when there is a 
role for public policy both to provide public goods 
(e.g. infrastructure, rules) and to offset market 
failures. 



 
Why do similar firms stick close together? 

• . Thus if we think of New York, 
we notice how financial firms 
are concentrated near Wall 
Street, Chinese restaurants in 
China Town and advertising 
agencies on Madison Avenue.  
 

• Clearly individual firms seem 
to believe that although being 
close to their competitors may 
bring more competition; these 
costs will be more than offset 
by the benefits from being 
close to each other. 



 Economies of Scale: External to the 
firms, internal to the industry 

• As more firms enter the market, the costs of the existing firms fall. Agglomeration 
economies are an example.   

 

Number of Firms 

Costs, 
prices . 



Does Infant Industry Protection Work? 
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So what does it take to use infant 
industry protection effectively? 

• Problem with protection. Raises costs for other users, better to 
either subsidize production or even provide profit  guarantees 
 

• Government knowledge. 
    identification of spillovers. 
     understanding of requisite scale. 
How does government get knowledge?  
 
• Government political capacity. 
    ability to say no as well as yes. 
    ability to avoid rent-seeking. 
 
  



Policy 4: Competitive currency 

• A real depreciation of the currency of 50 
percent is the equivalence of a 50 percent tax 
on imports and a 50 percent subsidy to 
exports. 

 

• Conversely a 50 percent appreciation is like a 
50 percent subsidy to imports and a 50 
percent tax on exports. 



Where does Nigeria Stand? 

• Does the trade regime promote structural 
transformation? 

 

• Does the exchange rate regime promote 
competitiveness? 



Why is an undervalued currency good? 

• The level of the real exchange rate is the main relative price 
that determines the profitability of tradables relative to non-
tradables 

• Hence it determines investment demand in tradables 
• This is a key determinant of economic growth, because: 

– social returns to non-traditional tradable (export) activities are high 
and typically exceed private returns 

• Which in turn is due to two sets of reasons 
– tradables are more intensive in (poorly-provided) institutional 

prerequisites than traditional activities; and 
– tradables are the repository of growth generating externalities in 

learning and agglomeration 

• Which implies that undervaluation is a second-best tool for 
promoting efficient structural change and growth in a 
developing economy 
 



What makes a competitive currency feasible? 

• High domestic saving relative to investment 

 

 

• A structural fiscal surplus (tight fiscal, easy money). 

 

 

• Counter-cyclical regulations on capital flows 

– Tax or restrict inflows in good times. 



Nigeria since 1980: 
Growth based on Oil  



Nigeria 124/138 in Enabling Trade 



The New Ecowas Tariff 

• 1 Essential social goods 0%  
• 2 Basic raw materials and capital goods 5%  
• 3 Intermediate products 10% 
• 4 Final consumer goods 20%  
• 5 Specific goods for economic development 35% 

 
• An Improvement on Nigerian schedule but still 

imposing penalties on exports! ECOWAS Tariffs on 
Fabrics can be as high as 35 percent, and are 
often 20% e.g. Denim. 



Trade finance: Largest problem for 
Nigerian Exporters! 



Internal Costs Also Matter for Gains 

 



Nigeria’s currency: Extremely 
overvalued.  

Official Market 

Result: Firms are uncompetitive, government finance under stress, incentives for 
correuption.  



Conclusions 

• There are opportunities in the current global 
environment but Nigeria is poorly equipped to 
achieve them. 

• It needs policies that facilitate structural change. 

• In principle industrial and trade policies can help. 

• But an appropriate macroeconomic environment 
with a competitive exchange rate 

    is essential 

 


